
Question: 1 
   
Which VPLEX volume contains virtual-to-physical mapping information? 
 
A. Logging volume 
B. Virtual volume 
C. Repository volume 
D. Metadata volume 
 

Answer: D     
 

Question: 2 
   
Two medium-sized VPLEX clusters are connected via IP with a round-trip latency of approximately 35 
ms. 
What type of configuration is this? 
 
A. Geo 
B. Metro 
C. Local 
D. Global 
 

Answer: A     
 

Question: 3 
   
A customer wants to implement VPLEX between two datacenters 200 km apart. The latency between 
the sites is 15 ms. Which VPLEX topology is recommended? 
 
A. Geo 
B. Metro 
C. Local 
D. Global 
 

Answer: A     
 

Question: 4 
   
What is the maximum cache of a single engine in a medium VPLEX VS2 cluster? 
 



A. 36 GB 
B. 144 GB 
C. 72 GB 
D. 78 GB 
 

Answer: C     
 

Question: 5 
   
A dual fan failure occurs on a single VPLEX engine. 
What will be the result? 
 
A. The engine will shut down after three minutes. 
B. Theengine will shut down immediately. 
C. Director B only will shut down. 
D. Director A only will shut down. 
 

Answer: A     
 

Question: 6 
   
You present additional LUNs to VPLEX. Which command must be executed to make them visible to 
VPLEX? 
 
A. array discover 
B. array re-discover 
C. array claim 
D. storage-volume find-array 
 

Answer: B     
 


